Dendrogram Based on Total Deviance
N. Atlantic; Pl CMIP5; 300mon; AR(2); 4 Laplacians

1000 1200 1400

800

| L] 1]

— H
—

nnnnnAniaannia i,

WW==>=>>SAANTFOONNO00QRN=ST=>SO0LOSSON==0C00 0 PSSO - OO=S=
>SS === A UOILOS L= L=00==00= =00 L | SSnn- S =SS NN
I T T TONOO0 KR i = LATADRDLIO000 | 1 Llaa T [ AS<=TT LISSSS
== | LOOHWSS S9N | OO0 T TO0ZZ 1 1o0aasSsSaa o0 I a<Snunnn
WW%%__mmNN WWWWWW%wT = WW__WW%W == =L %%LL££££
EEDHRMWMWCC GGGGGGWMWA < DN== S= CC%% %MWI_LLL
S S==xx ToGoog WL W WWNO SsS—— —=000N

=== CT QTS o oouww O TRTRTRTR
= TITITTYN OO O (5GGG

i

LLILLI

600

400

200

dissimilar —

|

~ Similar



